a, boll sl ged(a,

d

b b
3. d | ged(a, b)o® gcd(ﬁ, E):w

4. a | beolL ged(a, ¢)=10]H a | bo

oX.

b) -
a, b-(‘)‘} gcd(ma, mb):

m ged (a,

b)

lem(a, b)= ab.

5. m=dm’, n=dn'0]1 gcd(m’, n')=10]H d= ged(m, n).
6. WOk d'7t mt no FAROIH d' e god(m, n)g

o] A2 E35| ged(m, n)o] mat no] %

SEs
3t d' | do]i  d= gcd(a, b)o] HAPHch
o] AL a9} b9 FEJAL7}E ged(a,

be s

r=0, &, a=eq2A ¢ | a,
g2 wHoz e | bo]lB2 e alt b9 FOFpo|Tt
st /7t oot b FobgolH

fllaz+by)olB2 fle, &, f < eolth

rfetA] e = doltt.

a®t b, d7} ¥ H4Y W dla, d|bolL ofF JoJA d’

ojct,

b)oli lem(ma, mb)=

m lem(a, b)

a O|1 d' | bo]

8. m=p, - p, ol nzpf Pk‘O] o, 3;=0,i=1, 2, 3, -, ko]#
ng(m, n):pllnin(a“ Al pkmln(up ﬂk)ol Aalste},
9. a, b€ zo]] thsto] d= gcd(a, b)atil &tH
o™ z, y€Z ¢ ax+by=d
(53]
S={au+bv|lu, vEZ au+by>0}0]2} =00 §= golua iy HAlM 9]s}cf
Sol= JpAF Ao 47}t ER|Stct o)7L eabil )AL
ecsoln2 AT A% 2.yl st
e = az +byo|t}.
a2 e=dyt Hold =oR
e>00]02 Al etyg]ES o] g5H
a=eqtr, 0 <r<eg UIEAZ|= AL ¢, ro] EA|EH.
r=a—eq=a—qlax +by)=a(l —gz)+b(—qy)0] B2
oreF p > 02tH re 80|, r<e’F o] e7} S§9 71 AFS P Aagbs ApAlo] @o] =co)



Al

=]
a1
S

o=

g4 a2t bE AAL mo2 e UoAZE Z2OoW, ged(a, m)= ged(b, m)Y& Bojzt.

(1) 101, 10101, 1010101, ---52 AlF37F 2 & ¢3S Ho2t

2) nol AF4A Ao Al AlF4olH n="7k = +

3) 24a. 3+a0lW, 24 | (a®>—1)YS Bojat.

3. a, mi €N, m=nd T, gcd( +1, a2“+1)% JLshod et

4. RE g ofd A4 nol st} 13 | (41143772 d g mojat,

5. Al At2]4 no] 119] wjsoli, b Ap2]4o] AlFe] §o] n/11ol2tl & m, o]2igh AtA

& ng W% Fstojak (IMO'60)

21n+4
ldn+3

(
(

6. 7} 7]9kR A0t g AFHa g Eatolet (IMO '59)

IMO : International Mathematical Olympiad(=A4] 438 2 njott)

581 A&

Determine all three-digit numbers N having the property that N is divisible by 11,
and N/11 is equal to the sum of the squares of the digits of N.
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Prove that the fraction is irreducible for every natural number n.
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